Closed Box Air Intake 255-455546

PREASSEMBLED MATERIALS

PLASTIC AIR BOX PLASTIC AIR DUCT CORSA AIR BOX LID
6mm — 16 Bolts 3 MAF Adapter 6x4 Ribbed 1 Lid Gasket 1
1/4 Lock Washers 3 5/8 NPT Fitting Straight 1 1/4 x 5/8 Rubber Washers 4
I 1/4 x 5/8 Washers 3 1/4-20x.50’ Truss Head Screws 4 I

| PowerCore Air Filter #61508 1 \

HARDWARE KIT

#64 Clamps
4 x 10 Pan Head Screws 2 5/8 x 15 Breather Hose 1 5/8 11.5 Breather Hose
4.0 Hump Hose 1 | Clamp Double-Line for 5/8 Line 1 MAF Sensor Gasket

N

Air Fllter 1 4.0 x 3 Straight Sleeve 1

(S



http://www.corsaperformance.com/



